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Problem 1
10e~2¢
(a)Rz%zﬁzZSQ
T=RC=; € =—=0.02F
(b)T=RC=25=05s

c) v(0)=10V, wy==Cv =0.5x%0.02 x =
0)=10V, > Cv(0)% = 0.5 X 0.02 X 100/ = 1
(d)0.5w,=051,  ~Cv2=05 = v=7071V
10e72t = 7.071 > t=0.173s

Problem 2

When t<0, vy = 6 X — 12 = 3 6V
4|[12+2

When t>0, R=4//12KQ =3KQ
T=RC=3x%x10%3%x50x10"%s = 0.15s
t

_t _20,
Vo =1 = 3.6e 015 =3.6e 3 V

Problem 3

When t<0, R, =8+6//20//30Q=12Q, [=24/12A=2A
=2 %A = 0.6674

iL - I -
6+20]|30
When t > 0, R, =20//30+6Q =18Q, 7 = = = 25 = 455
30

iy = 50530 ip = 0.4e %54

ip =0.667e %54,



Problem 4 , o ---

10Q

P el )

When t= 0, i(0)=2A, i,=0.5i=1A, i,=i-i,=1A,

Whent>0, R =R; +10Q = 240

_R_2#
T= I=7% s =4s
i(t) = 2e %A
Problem 5
R=3+5//20Q=7Q T = § = %S =35s

i(t) = 20e~35t4

v(t) = —i(t) - ==X 20 = —=80e 5V

Problem 6

When t<0 v=14-2Xx4V=6V
When t>0 R=3Q, t=RC=3X2s=06s

t
v(t) =6e sV
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Problem 7
t=0 . PR e
40Q 1.51 / 30Q
e LIRS
Ry—> i

o+ 5 |
70@ ) — : i
<> 0.5i 50Q |

When t<0, 40 X 1.5i + (30 + 50)i = 70 = i=0.5A
v(0)=80i=40V
Fort>0, R,=80i/1.5i=53.33Q, T = RC = 53.33 X 3s = 160s
t

v(t) = 40e 160V
t
i(t) = % = 0.5¢ 700 A
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